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1. K (No.1 Fiie ) ACE ARG R SR64ESH K BIfE
m & H B HLAT TR 47 57 671 A 87 97 104 114 121 1A 2 3A
B HH - - R6.4.24 R6.5.8
RO/ H - - R6.5.15 R6.5.20
ERLEE ms/m — 80.1 79.6
WA mg/0 — 14.2 14.2
TIVFXILKER mg/0 |HHShRnZE - -
FaK R mg/0 0.0005LL - -
HRIVL mg/0 0.003L4 - -
& mg/0 0.01LLF - -
Y Z4=FN mg/0 0.02LLF - -
it mg/0 0.01LLF - -
BTV mg/0 |HHEhARNZE - -
RV =1 mg/0 |HiEhinzd - -
NP a==t P mg/0 0.0LLLF - -
FhFraaxzFL mg/0 0.0lLLF - -
=1=50 g mg/0 0.02LLF - -
PUEAb iR R mg/0 0.002L4 F - -
L,2—yrunxiy mg/0 0.004LL T - -
L1—yZanxFL v mg/0 0.1LLF - -
L,2—yZuanxFL mg/0 0.04LLF - -
1L,1,1—KNZoaxg mg/0 1LLF - -
L1,2—RN)Zmaxs mg/0 0.006LL T - -
1,3—Y7rarmy mg/0 0.002LLF - -
FU7 A mg/0 0.006LL T - -
e mg/0 0.003LLF - -
FA_INT mg/0 0.02LL°F - -
NPy mg/0 0.0LLLF - -
L mg/0 0.0LLLF - -
Ld—oAxHr mg/0 0.05LLF - -
JanxzFL mg/0 0.002LL - -
fEROBFHNIZH - -
HATZX L HA pe-TEQ/0 1LLF - -
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F2. Hu T K (No2 B3 7) A A AT AE SR SFI6H-5H K BIfE
m & H B HLAT FEHEAF 47 57 671 A 87 97 104 114 121 1A 2 3A
B HH - - R6.4.24 R6.5.8
RO/ H - - R6.5.15 R6.5.20
ERAYE ms/m — 36.1 36.6
‘A4 mg/0 — 7.7 10.0
TIVFILKER mg/0 |HHShRnZE - -
FaK R mg/0 0.0005LL - -
HRIVL mg/0 0.003LL - -
& mg/0 0.01LLF - -
Y Z4=FN mg/0 0.02LLF - -
it mg/0 0.01LLF - -
BTV mg/0 |HHEhARNZE - -
RUHkE 7 = =1 mg/0 |HiEnmNCE - -
NZenxzFL v mg/0 0.0LLLF - -
VAl N e/g=1=0a a PV mg/0 0.0lLLF - -
=1=50 g mg/0 0.02LLF - -
PUEAb iR R mg/0 0.002L4 F - -
L,2—yrunxiy mg/0 0.004LL T - -
L1—yZanxFL v mg/0 0.1LLF - -
L,2—yZanxFL mg/0 0.04LLF - -
L1,1—=Nrmrrxz mg/0 e - -
L1,2—RN)Zmaxs mg/0 0.006LL T - -
1,3—Y7rarmy mg/0 0.002LLF - -
FU7 mg/0 0.006LL T - -
e mg/0 0.003LL T - -
FARINT mg/0 0.02LLF - -
NP mg/0 0.0LLLF - -
L mg/0 0.0LLLF - -
Ld—oAxH mg/0 0.05LLF - -
Va=i=5 S mg/0 0.002LLF - -
RO/ H - -
HATZX AR pe-TEQ/0 1LLF - -
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